Chemistry 12 -~ k‘/a . -
Solubility Review
1. Molecular solutions do not conduct electricity because they contain

@ molecules only

B. cations and anions
C. molecules and anions
D. molecues and cations
2. To determine the solubility of a solute in water, a solution must be prepared that is
@ saturated
. unsaturated
C. concentrated
D. supersaturated
3. Froms the list of salts below, how many are considered soluble at 25°C?
" Cuc@ sy peS AesPO,
A. mnone
@ one
C. two
D three
4. Consider the following equilibrium:
NH4C1(S) L > NH4+(aq) + Cl-(aq) AH = +

Which of the following will increase the solubility of ammonium chloride?

A.  stirring the solution
B. adding water
C adding NH,CI

heating

S. Na,S80, solution is slewly added to a solution which contains 0:10 M Ba2* and 0.10 M
Pb“*. Which of the following statements describes the result of the addition of Na,SO,?
P
A. BaSO, precipitates first because it is more soluble. iix10
B. PbSO, precipitates first because it is more soluble. /g o ?
@ BaSO, precipitates first because it is less soluble.
PbSO, precipitates first because it is less soluble.

6. Identify the most soluble sulphide.

A.  HgS Ky = 1.6x10

B. PbS K = 7.0x10%°

P
C. FeS Kg =3.7x101°
®) MnS K =2.3x10"

7. Four samples of a solution were analyzed and the following data were collected:

Anion added observation

§% nothing

SO42‘ precipitate

OH" nothing

CO32' precipitate
Which one of the following group II cations is found in the unknown solution?
A. Mg?*
B. Ca?*

C. Se2t
) Ba2t



N
o. The [OH] is measured to be 3.3x10°3 mol/L in a 100 mL sample of a saturated solution
of AI(OH);. What is the solubility of Al(OH);?

1.1x10* mol/L
3.3x10% mol/L
1.1x10°3 mol/L
3.3x1073 mol/L

A.
,B:
D.
9. ich of the following salts has the lowest solubility?
copper I chloride

‘ . ammonium sulphide

C. potassium hydroxide

D. mercury II sulphate

10.  The mixture that could produce a precipitate of two compounds is

HgSO, and FeCl,
AgNOj; and MgCl,
K,COj3 and CuSO,
ZnS0O, and Ba(OH),

Orx>

11. In a saturated solution of zinc hydroxide, at 40°C, the [Zn2+] = 1.8x10°° M. What is
the K, of the compound?
A 5.8x10°15
2.3x10°14
C.  1.8x104
D.  6.5x10'10

12. When equal volumes of 0.060 M AgNO; and 0.00090 M B@rO};re mixed, the trial ion

product is i
A. less than K, and a precipitate forms. *  4fp 27577
B. greater than Ksp and a precipitate forms. _ _
less than K_Sp and no precipitate forms. L"&' 4§34 x)07°
D. greater than Ksp and no precipitate Eorms.
13. What is the maximum amount of sodium sulphate that will dissolve in 1.0 L of 0.10 M

Pb(NO,), without forming a precipitate?

A. 1.8x10°8 mol

@ 1.8x107 mol

C. 1.3x10"% mol
D. 1.0x10°! mol

14. Which one of the following equilibrium systems is described by a Ksp ?

A. CaCO3(s) <> CaO(s) + COz(g)z_

C3.CO3(S) <> Ca2+(aq) + CO3 (aq)

2 2-
Ca +§-a{q) + CO3 (a% <L > CaC03(s)

15.  In an experiment, a student mixes equal volumes of 0.0020 M Pb%™ ions with 0.0040
MT ions. What is TIP?

(A) 4.0x107

21 3.2x10°8
C. 1.3x107
D. 8.0x106

16. A 0.50 L solution of CuBr, contains 0.30 mol Br™ ions. What are the ionic concentra-
tions in the solution?

A.  [Cu®*]=0.15M [Br] =0.30M
@ [Cu’*] = 030M [Br] = 0.60 M
. [C®*]1=060M [Br] = 0.60 M

D. [Cu>*]=060M [Br]=120M



